Tl - Q«1 I.F. Transformer Ll - 203 Polios Carl Coal 81 - 124 Tube
T2 = Q=2 I.F. Transformer L2 - 204 Antenna Coil J 82«53 = '51 Tubes
T8 = Q=4 I.F. Iransformer L34 = 205 Oscillator Coil §4-55=88489 = 127 Tubes .,
T4 - 10202 Pover "Transformer 14 - 283 R.F Choke 86-57 = 147 Tubanm e
6 - 10208 {:ﬁ.l'tpllt Transformer., 210 = '80 Tuhe E
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SILVER - MARSHALL,INC. MODEL, X

) MODEL "R™ SUPERHETERODYNE
48-112 mmfd. Trimmer Condenser
Z2 gang variable Condanser = 385 mmfd. max.
4 mf'd. Dry Electrolytic Condenser 456, V.
«1 Mfd. Condenser 200 v,
«1 Mfd. Condenaer 400 V.
«1 mfd. Condenser 200 V.
«001 Mfd. Condenesr = mica
001 Mfd. Condenser = Hica
.GEE lfﬂl- uﬂhﬂﬂﬂﬂﬂl‘ - SFI'IEH-. Em Vs
£ Mfd. ,Condenser - Polymet Waxtits- 200 v,
iﬂEE HfI:L Condenser = SPTH-E‘H Em Ve
2 Med. Cond. (1,3,%, mfd, Unit)
.03 Mfd. Condenser = Sprague 700 V.
T5=500 Mfd. Osc¢.Trimmer Condensar
+1 Mfd. Condenser - Sprague 200 V.
.1 Mfd. Condenser = Sprague 200 V.
215 Mfd. Condenser = &prague 200 V.
% Mfd. Condenser - Polymot Waextite 200 V.
+0005 Mfd. Condenser « Mica
+1 ¥fd. Condenser = Sprague Z00 V. '
Mfd. Condenser { Sees C13)
Mfd, Condenser { See C13)
8 Mfd. Dry Electrolytle Condenser 450 V.
12 Mfd. Dry Blectrolytic Condemser 450 V.

¥ = Tuning Meter - 15 ma.

100,000 Ohm Pot. (Tene Control)
250,000 Ohm Pot. (Vol Control combined with A,C.Switch)

250 Ohm Resigter = wires wound
60,000 Ohm Resistor « 1 watt parben
25,000 Ohm Resistor - 1 watt carbon
100,000 0hm Resistor - 1 watt carbon
5,000 Ohm Registor = 1 yatt carbon
400 Ohm Resistor - wire wound
3,500 Olm Resistor = 1 watt carbon
80,000 Ohm Resistor - 1 watt carbon
1 Megohn Resistor - 1 watt carbon
' 1 Megohn Resistor = 1 watt carbon
9,000 Chm Resistor = 1 watt sarbon
60,000 Ohm Repistor = 1 watt carbon
100,000 Ohm Resistor = 1 watt carhon
1 megolm Resistor = 1 watt sarbon
g:gﬁg 3ﬁ§iila.75u Ohm R.D.Chmite - ¥ watt
~% Msgohm Resistor - 1 watt
= 12,000 Ohm Resistor - Lowabt

1T & ¥ v

SW1 = Change-over Switch
SW2 .= _A.C.Switeh. (Cembined with Vol.Control}
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